o 5t
18

SK-4
SK-6
SK-7
SK-8
SK-9
SK-10
SK-12
SK-16

il
]

=MaENEFKE (FiREHLR)
3-jaw strong scroll chuck plain back,

2-piece jaws (front and back mounted)

1. NREEREBERE - BTUESEEBNIIHE - EMES
RENHINBENLT - MERXEEALE -
2. BMa{EIEM &R MmEA -

3. ¥8/£0.03mm (0.0012”) T.L.R. °

A FEMERAREMFE  EBARSEREE; HR

ME 3G A -

o

N

—i

BE{T7 : mm

112
167
192
200
232
273
310
405

58
67
76.5
76.5
84
87
96
122

80
130
155
160
190
230
260
345

95
147
172
176
210
250
285
375

32
45
58
58
70
89
105
160

4.8
5.5
5.5
5.5

7
8.7

3-M8 / 3-M8x65
3-M10/ 3-M10x70
3-M10/ 3-M10x80
3-M10/ 3-M10x80
3-M12/ 3-M12x90
3-M12/ 3-M12x90
3-M12/3-M12x110

— /6-M14x130

47 19 316 8 45 1200 2500 3.8 — @3-095 / @34-@90

72 26 40.2 10 9.0 2200 2000 9 0.03 @4-0160 / ©55-@150
812 28 42 11 11.0 2500 2000 13.8 0.06 28-0180 / ©62-0170

82 28 42 1" 11.0 2500 2000 15.5 0.07 @8-@190 / ©68-0180
90.9 32 512 12 15.0 3000 2000 22 0.16  ©11-@220/Q@70-0210
100.5 35 56.7 12 19.5 4000 1800 29.7 0.26 @12-@260/Q@80-D250
1145 40 568 14 21.0 4200 1800 43.5 0.58 @15-0300/@90-@290
148.6 50 76.1 15  25.0 4500 1500 98 1.72  (30-0380/ @110-8360



